Mental Computation (End term 3- Sample 1)
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What is the square of 40?
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(16)
5 (N5.2)
4 – 3 – 5









(–4)
6 (N5.2)
3 steps to the left, 4 steps right, 5 steps left.  Where am I?


(–4)
7 (S5.2)
Is 50° W a Latitude or Longitude direction?



    (Longitude)
8 (S5.2)
What is the bearing of SE?







(135°)
9 (CD5.1)
A coin is tossed 60 times, how many tails are expected?


(30)
10(PA5.2)
A number multiplied by five gives thirty-five.  What is the number?
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What is the square of 50?
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5 (N5.2)
– 6 + 4 – 2









(–4)
6 (N5.2)
3 steps to the right, 4 steps left, 5 steps right.  Where am I?

  
(4)
7 (S5.2)
Is 20° S a Latitude or Longitude direction?



    
(Latitude)
8 (S5.2)
What is the bearing of W?







(270°)
9 (CD5.1)
A die is tossed 60 times, how many 5s are expected?



(10)
10(PA5.2)
A number divided by seven gives twenty-one.  What is the number?
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What is the square of 60?
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(8)
5 (N5.2)
– 2 + 3 – 4









(–3)
6 (N5.2)
2 steps to the right, 5 steps left, 2 steps right.  Where am I?


(–1)
7 (S5.2)
Is 35° E a Latitude or Longitude direction?



    (Longitude)
8 (S5.2)
What is the bearing of NE?







(45°)
9 (CD5.1)
A die is tossed 60 times, how many 6s are expected?



(10)
10(PA5.2)
A number multiplied by six gives forty-two.  What is the number?

(7)
























































































































